KOLAR Document ID: 1723153

Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

Kansas Corporation Commission Oil & Gas Conservation Division

WELL PLUGGING RECORD K.A.R. 82-3-117

Form CP-4
March 2009
Type or Print on this Form
Form must be Signed
All blanks must be Filled

OPERATOR: License #:			,	API No.	15			
Name:				Spot De	scription:			
Address 1:			.		Sec Tw	p S. R East West		
Address 2:					Feet from			
City: State: Zip: + Contact Person:			.		East / West Line of Section			
Phone: ()					NE NW	SE SW		
Type of Well: (Check one)		OG D&A Cathodic		,				
ENHR Permit #:	Gas Sto	rage Permit #:		Date Well Completed:				
Is ACO-1 filed? Yes	No If not, is well	log attached? Yes				ved on: (Date)		
Producing Formation(s): List A	ll (If needed attach another	sheet)				(KCC District Agent's Name)		
Depth to	Top: Botto	m: T.D		Plugging	a Commenced:			
Depth to	Top: Botto	m: T.D		00 0				
Depth to	Top: Botto	m:T.D	'	. ragging	g completed.			
Show depth and thickness of a	all water, oil and gas forma	ations.						
Oil, Gas or Water	Records		Casing Re	cord (Su	urface, Conductor & Produc	tion)		
Formation	Content	Casing	Size		Setting Depth	Pulled Out		
Describe in detail the manner cement or other plugs were us		_				Is used in introducing it into the hole. If		
Plugging Contractor License #	:		Name:					
Address 1:			Address 2:	:				
City:			5	State:		Zip:+		
Phone: ()								
Name of Party Responsible for	r Plugging Fees:							
State of	County, _			, ss.				
	<i>3</i> , –			_	implayed of Onesates	Operator on obeyed decertibed		
	(Print Name)			E	imployee of Operator or	Operator on above-described well,		

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.

Quality Well Service, Inc.

PO Box 468 Pratt, KS 67124

620-727-6964

Bill To	
Mull Drilling Co., Inc. 1700 Waterfront Pkwy. Suite 1200 Wichita, KS 67206-6637	

Invoice

Date	Invoice #		
6/12/2023	2579		

KLN

	P.O. No.	Terms	L	ease Name
				Hall D1-17
Description		Qty	Rate	Amount
Rig Time Floor Rental Rip Casing Welding Water Truck Backhoe Phone Calls Clerical Wiping Rubber Fresh Water Hall D 1-17 Stafford Co. 6/7/23: Drove to location, took down fence, raised pole, set bridge plug at 3460 cment, set bridge plug at 3200', bailed 2 sacks cement, swedged in, drov 6/8/23: Drove to location dug out casing head, unpacked head, set floor, pulled off 4' below ground, measured stretch, loaded hole with water, ripped cs 2245', came free, pulled casing to 600', pumped 50 sacks cement, 35 cc, 310', pumped 50 sacks cement 35 cc, pulled casing to 40', pumped 40 set tore down floor and rig, emptied pit, back filled pits.	slips, cut surface using at 2480 and pulled casing to	18 1 2 2 7 8 1 1 1 2	250.00 500.00 75.00 100.00 110.00 20.00 40.00 20.00 30.00	1,000.007 150.007 700.007
PLEASE REMIT TO ABOVE COMPANY & ADDRESS! Thank you	for your business!	Subtotal		\$7,870.00
124	***************************************	Sales Ta	x (7.5%)	\$590.25
62 1		Total		\$8,460.25

Quality Well Service, Inc.

QUAIOL

Invoice

PO Box 468 Pratt, KS 67124

Date	Invoice #
6/12/2023	C-3244

Bill To	
Mull Drilling Co., Inc. 1700 Waterfront Pkwy. Suite 1200 Wichita, KS 67206-6637	

PAID

'JUL 06 2023

MULL DRILLING CO

WICHITA, KS CO

P.O. No. Terms Lease Name

Hall D 1-17

Description	Qty	Rate	Amount
Common	84	16.75	1,407.00T
Poz	56	9.50	532.00T
Gel	781	0.22	171.82T
Calcium	100	1.50	150.00T
Plug/Pump Charge	1	1,100.00	1,100.00T
Handling	150	2.10	315.00T
.10 * sacks * miles	6,660	0.10	666.00T
Service Supervisor	1	500.00	500.00T
LMV	45	4.50	202.50T
Heavy Equipment Mileage	90	9.50	855.00T
Customer Discount	l	-884.90	-884.90
Discount Expires after 30 days from the date of the invoice		0.00	0.00
Hall D 1-17			
Stafford Co.			
		1	
		l	

PLEASE REMIT TO ABOVE COMPANY & ADDRESS! Thank you for your business!

 Subtotal
 \$5,014.42

 Sales Tax (7.5%)
 \$376.08

 Total
 \$5,390.50

634 D

Quality Wireline Service LLC

PO Box 468 Pratt, KS 67124

Invoice

Date	Invoice #		
6/14/2023	1097		

Bill To	
Mull Drilling Co., Inc. 1700 Waterfront Pkwy. Suite 1200 Wichita, KS 67206-6637	The state of the s

	P.O. No.	Terms	L	ease Name
				Hall D 1-17
Description		Qty	Rate	Amount
5 1/2" Bridge Plug Dump Bailer Cement Run Truck Charge Customer Discount Discount expires after 30 days from the date of the invoice. Hall D 1-17 Stafford Co.		2 2 1	1,550.00 750.00 1,500.00 -2,135.00 0.00	3,100.00° 1,500.00° 1,500.00° -2,135.00° 0.00°
PLEASE REMIT TO ABOVE COMPANY AND ADDRESS! Thank	s for your business!	Subtotal		\$3,965.00
		Sales Tax	(7.5%)	\$297.38
		Total		\$4,262.38